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2023 TERNER A 35,743,974,000,000]  36,538,976,517,600 796,165,862,490|  25,889,023,493,500
LS| A NEEW UERETEES HEE NPT FERG M| FHZHX 2,572,266,000,000 2,572,746,927,280 107,722,270,000 2,110,242,568,440
Atta| A Atz| 5] Z=EH FEINYRHE A FEAHEX B4t FERTF AR ALK FEHOI=A S EAL 17,801,000,000 18,573,316,810 462,727,270 10,677,133,940
LS| A NEEW ZEd FEINYME A FEA S X B FERTIAZALR| R = EH1)\| I EIN 59,965,000,000 60,024,889,090 59,889,090 57,820,450,900
Atta| A Atz| 5] Z=EH FEINYRHE A FEAHEX 4t FERTF AR ALK &AM H[ ALY E 1,130,000,000 1,211,147,000 40,380,000 939,401,000
LS| A NEEW ZEd FEIANYME A FEA S X B FERG M| +5’<E"1+EI SMTYAEHS IR 1,998,000,000 1,998,000,000 - 1,369,200,000
Atta| A Atz| S X] Z=EH FEINYRHE A FEAH X 4t FERH M| 2 SHAFM AR ZE 2 Y 3| 2 EF 2,669,000,000 2,669,000,000 11,995,930 2,073,607,320
LS| A NEEW ZEd FEIANYME A FEA SR B FERG M| FEHHOFAIR 2] 1,189,000,000 1,189,000,000 - 815,500,000
Atta| A Atz| 5] Z=EH FEINYRHE A FEAHEX 4t FERH MR HEHENMDAISEEX| Y 44,200,000,000 44,200,000,000 7,915,000,000 37,226,000,000
LS| A NEEW ZEd FEINYME A FEA SR B FERG M| N ER T EEEE] 7,134,000,000 7,134,000,000 - 4,892,000,000
Atta| A Atz| 5] Z=EH FEINYRHE A FEAHEX B4t FERH MR EERN RS N 6,100,000,000 6,100,000,000 5,600,000,000 5,600,000,000
LS| A NEEW ZEd FEIANYME A FEA SR B FHSEIHMR R HHA SR I 2 2,000,000,000 2,000,000,000 - 1,358,000,000
Atta| A Atz| 5] Z=EH EAHe XK= A7 |2 E FEHEAZ| S (EFEHAYTE 4,558,870,000,000 4,558,870,000,000 379,906,000,000 3,039,248,000,000
QHES| A| nEg=E= == EEHZE IAUHE DEAMEYHI A (ZEAN)ES 2,218,130,000,000 2,218,130,000,000 - 2,218,130,000,000
Atta| A wsEF Az HEoHME2Y A b (dh LUH A D B X| 2 +9[E 428,608,000,000 428,608,000,000 16,840,000,000 347,227,680,600
US| A NESEE He HCOIMGIed FEEEITED) QUHHA = OFF GIA| M 7f 2 1,184,120,000,000 1,184,120,000,000 28,600,000,000 881,660,731,000
Atta| A wsEF Az HEoHME2Y A b (ih OSE O A H I 210,722,000,000 210,722,000,000 10,310,000,000 157,815,400,000
US| A NESEE He HCOIMGIS N FEEEITED) M- EARAESHQEr 42,114,000,000 42,114,000,000 - 42,114,000,000
Atta| A wsEF Az HEHHARY EERIETD) EEREN 171,000,000 171,000,000 1,245,000 57,234,900
SR nNESEE He HCOIMgIed EERICED) EENECEERE 25,922,000,000 25,922,000,000 - 25,922,000,000
Atta| A wsEF Az HEoHME2Y A b (dh HEOtMAE N =Y 2,500,000,000 2,500,000,000 - 1,745,728,000
s A nsYEF EE EERETEE EEIIEED) AHEX|ohatg| 3,116,000,000 12,440,382,400 127,395,390 7,130,137,300
etz A wsEF H HEoHME2Y A ok (dh MMz W EZHMEZAM 16,220,000,000 16,220,000,000 - 13,651,397,960
At A nsYEF EE EERETEE EEENE HE7|2A =8 7,030,000,000 15,250,000,000 - 6,101,310,000
Atta| A wsEF Az HEHHARY e He ALK 5,860,000,000 7,358,271,000 259,380,000 2,846,641,440
s A nsYEF EE EERETEE EEENE EECNRERE] 1,647,000,000 1,647,000,000 - 1,267,160,000
Atta| A wsEF Az HEHHARY e X|51XtOS)DE 23| o) 7) %[ = Zl 950,000,000 999,800,000 - 710,000,000
At A nsYEF EE EERETEE He 2 GX|2(Eh PSO & A} 397,896,000,000 397,896,000,000 10,700,000,000 309,122,000,000
Atta| A wsEF Az | A7t Y A U= DENLEH A EZATGH 4,586,205,000,000 4,586,205,000,000 - 3,118,619,400,000
s A nsYEF EE §|74|7+7i 2f IAUHE NSANEELHIH (S JHI?#I“FEI?#I’H R 966,652,000,000 966,652,000,000 - 512,839,847,520
Atta| A wsEF gts-58 e k| Nesgd = N g3t NS K| @l 4,355,000,000 4,355,000,000 790,671,490 2,699,607,510
Lt A nsEF a3 el SOt HAAR= U CHA| S5 aA 477,000,000 477,000,000 59,456,140 264,586,740
Atta| A wsEF gts-58 SRR gta el St M E QI 2,614,000,000 2,614,000,000 - 1,829,800,000
s A nsYEF a3 el R SEEOEEXRTIHAM 2,813,000,000 2,813,000,000 - 2,203,200,000
Atta| A wsEF gts-58 32X s 2R - ZhAbEe| 6,170,000,000 6,162,014,000 298,685,020 4,401,169,100
s A nsYEF as-3g 32X a3 2gx =N SEYTHE 7| XY 4,015,000,000 4,015,000,000 208,611,100 2,755,732,500
Atta| A wsEF gtz 32X SIS )ENA SN = /=N 5,374,000,000 5,374,000,000 - 5,374,000,000
QHES| A| nEJEER 2. 23t S| A ZH 2] A L™= DEAMELH| A (BEARTE 318,323,000,000 318,323,000,000 - 210,180,000,000
LS| A ngyEF =557|E =58 stE X AHK 2 (2Eh ot 2 X5 K -2 QU K|-2 G 962,000,000 1,118,900,000 - 845,584,850
LS| A e =FS7IE =58H SFEMEXH T 2EHH 0| 3l S AHs k&t 2| H] 1,076,000,000 1,076,000,000 - 979,151,430
Atta| A wsEF = E = 7|Ef =58 SFMERH =FMYERA 3,149,000,000 3,526,923,460 38,902,500 2,349,659,440
Lt A nsYEF = E S 7|E} =58H =F == AR R ADESSEFMEHAEX Y 2,740,000,000 2,740,000,000 - 1,568,000,000
Atta| A wsEF %%?IE% =58 SFMERH ADtESFA E1 U 11,470,000,000 11,470,000,000 - 4,591,120,710
US| 7| NESEE E2S7[E} EErSE SRAAX| Y TASFALEHTS 9,000,000,000 9,000,000,000 - -
US| A NEQEE SEEJ|E} SENH EEWNEINE] CIXEEZMSHXEY 5,000,000,000 5,000,000,000 16,000,000 3,226,000,000
US| A nNESEE EESJ|E} ZTEDNEG I ZTENEJ| AL LS(RAD) :?EI'L |A’:x 3L (R&D) - 187,854,000 - 153,281,200
Atta| A wsEF =FS7IE STEUSAHFNE = ENS7|= AT LHRAD) T EUE7| S A YIS/ (R&D) 28,305,000,000 28,305,000,000 - 28,305,000,000
US| A nNESEE EEERS TENEN e ZTENEJ|E IS LSHRAD) AN ST |EF RS AE' EEREYETGED) 3,937,000,000 3,937,000,000 - 3,937,000,000
Atta| A wsEF =FS7IE TEUSAHFNE = ENS7|& AT LHRAD) TEUS7|SA YR E Q0[O0 & 2| 7| AR (R&D) 6,025,000,000 6,025,000,000 1,000,000 6,009,000,000
US| A nNESEE EEESS: TENEN e ZTENEJ|E AL LSH(RAD) = E D EH O] E{ A ME| A 221 Z 1= (R]D) 3,600,000,000 3,600,000,000 - 3,600,000,000
Atta| A wsEF =FS7IE TEUSAHFNE = ENS7|= AT LHRAD) T EUSDNAS AR 7| =S S HALRI(R&D) 4,610,000,000 4,610,000,000 - 4,610,000,000
Lt A nsYEF =FS7IE SEUSHFNE T EUE7|=9TLHRAD) St E S En ST A S AT S AL (R&D) 1,600,000,000 1,600,000,000 - 1,600,000,000
Atta| A wsEF =FS7IE STEUSAHFNE S AL EHR&D) G ALY AL (R&D) 2,515,000,000 2,966,288,090 78,194,350 1,573,482,280
US| A nNESEE EESJ|E} ZTEDNEG I ZEE 17| Z(RAD) = EDNEATRT|E(R&D) 5,060,000,000 5,060,000,000 40,000,000 4,735,000,000
Atta| A wsEF =FS7IE TEUSAHFNE = E NS¢ 7|2(R&D) TEUE N2 IX| ALY (R&D) 6,705,000,000 6,705,000,000 - 6,454,176,690
s A nsYEF =FS7IE STERNSHTY = ENE17|2(R&D) TEWENSI|&TIS Q7|2 HIF 22| H] (Y EH(R&D) 13,144,000,000 13,144,000,000 - 12,103,256,920
Atta| A wsEF =FS7IE TEUSAHFNE HH 71254 (R&D) AOIE A 7| S7H L AR (R&D) 27,262,000,000 27,262,000,000 - 27,262,000,000
s A nsYEF =FS7IE STERNSHTY HH7|23 A (R&D) Lt 7| s 288307 |- dEso|H=3 2 ET |27 H(R 3,171,000,000 3,171,000,000 - 3,171,000,000
Atta| A wsEF =FS7IE TEUSAHFNE HH 71254 (R&D) EtA T EXHE A ZEROE ZCHM| K 7| = 71 2 (R&D) 5,427,000,000 5,427,000,000 - 5,427,000,000
At A nsYUEF =FS7IE SEUSHFNE AN 7| &S AM(R&D) 7|BEA| A CHI 2| (Totalcare) 7| 2 7H & (R&D) 4,000,000,000 4,000,000,000 - 4,000,000,000
Atta| A wsEF =FS7IE TEUSAHFNE HE7|=54L(Ra&D) TBM= 2l e 22/ ot =27 =71 2 (R&D) 4,000,000,000 4,000,000,000 - 4,000,000,000
At A nsYEF =FS7IE STERNSHTY HH7|&23 A (R&D) BIMZ|BtOI A S A = 2 A C|X| 23 QK A 7HE (R&D) 2,074,000,000 2,074,000,000 - 2,074,000,000
Atta| A wsEF =FS7IE TEUSAHFNE HE7|&54(R&D) N R e s s M E {GE)) 3,000,000,000 3,000,000,000 - 3,000,000,000
s A nsYEF =FS7IE SEUSHFNE - 7|34 (R&D) ST EQSIATIER AU ESIM 7| =718t 1,500,000,000 1,500,000,000 - 1,500,000,000
Atta| A wsEF =FS7IE TEUSAHFNE 71254 (R&D) I e R T s s e M e E R A FIGED) 3,000,000,000 3,000,000,000 - 2,190,000,000
Lt A nsYEF =FS7IE SEUSHFNE EHEAL Z 2 E 7 (R&D) 1,434,000,000 1,434,000,000 - 1,434,000,000
Atta| A wsEF =FS7IE STEUSAHFNE EHEAL Xsta 7t Al7|EHE St EHEH T A (RAD) 6,147,000,000 6,147,000,000 - 6,147,000,000
Lt A nsYUEF =FS7IE STERNSHTY EHEAT 0|22 X 7|gHto| 2O A Z M E M S 7| &7 2HRAD) 5,052,000,000 5,052,000,000 - 5,052,000,000
Atta| A wsEF =FS7IE TEUSAHFNE EUWECL AIZ|B7tA.Q ASHE 2 A X[ 7| =71 (R&D) 4,672,000,000 4,672,000,000 - 4,672,000,000
US| A nNESEE EESJ|E} ZTEDNEG I EMEA] AL ECHH 7| HIZ S E E 51 22| T 7| X| 7| 2 7] & (R&] 4,440,000,000 4,440,000,000 - 4,440,000,000
Atta| A wsEF =FS7IE TEUSAHFNE EUWECL HH 52 AMAMEME ALY T| =T LA (R&D) 21,442,000,000 21,442,000,000 - 21,442,000,000
Lt A nsYEF =FS7IE SEUSHFNE CAASe A QA7 HI S W S0l T2} 7| = 7 2HR&D) 6,387,000,000 6,387,000,000 - 6,387,000,000
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Atta| A wsEF =FS7IE STEUSAHFNE ZAHSGS Off-SiteConstruction?| Bt 55 B M AA| A BIE M 7| =7} 4,819,000,000 4,819,000,000 - 4,819,000,000
At A nsYUEF =FS7IE STERNSHTY ENEEE AlI7|HEADIE SR & 7| &7 2 (R&D) 2,593,000,000 2,593,000,000 - 2,593,000,000
Atta| A wsEF =FS7IE TEUSAHFNE SAASeSA X|5t3 7St A e A MRS 2 =& 2ot 22| X J 7| 800,000,000 800,000,000 - 800,000,000
LS| A e =FS7IE STERNSHTY ENREE CIX HERIZ| B X A SR EH BV 2NL (RES 1,000,000,000 1,000,000,000 - 1,000,000,000
Atta| A wsEF =FS7IE TEUSAHFNE SAASeSA RIS K| s7|8te| A= H A X527 = 7 'Y (R&D) 4,797,000,000 4,797,000,000 - 4,797,000,000
s A nsYEF =FS7IE STERNSATY CAASe A NNEEEEVIE ENEEIGED) 10,650,000,000 10,650,000,000 - 10,650,000,000
Atta| A wsEF =FS7IE TEUSAHFNE SAASeSA SR A =2 AE 7|2 7] & (R&D) 1,728,000,000 1,728,000,000 - 1,728,000,000
US| A nNESEE EESJ|E} ZTEDNEG I ENREIED QMM HHIHO|EE 2= ES 2| 7| =7 % (R&D) 1,584,000,000 1,584,000,000 - 1,584,000,000
Atta| A wsEF =FS7IE STEUSAHFNE SAASeSA AT S HSSC|X| EHoHH X 7| =71 2 (R&D) 3,842,000,000 3,842,000,000 - 3,842,000,000
At A nsYUEF =FS7IE STERNSHTY ENREE CIX| 27|18t AZA| S o 22| 7| &7 2 (R&D) 4,000,000,000 4,000,000,000 - 4,000,000,000
Atta| A wsEF =FS7IE TEUSAHFNE SAAFeSA SIC)|O|E{ 7| B Ol S K| & = Al A 2l 7| = 7} & (R&D) 3,721,000,000 3,721,000,000 - 3,721,000,000
s A nsYEF =FS7IE STERNSATY ENREE TENSI|[E7|8FEAHYSZEZ NS Z A I (R&D) 5,589,000,000 5,589,000,000 - 5,589,000,000
Atta| A wsEF =FS7IE TEUSAHFNE SAASeSA A A EpA b B U A S 7| =71 EHR&D) 2,550,000,000 2,550,000,000 - 2,550,000,000
Lt A nsYEF =FS7IE STERNSHTY ENREE HE0|HX|AH|HO|H S5 22| 7|8 15 (R&D) 3,000,000,000 3,000,000,000 - 3,000,000,000
Atta| A wsEF =FS7IE STEUSAHFNE SAASeSA ASSM7 &1 ot A HFH 7| X IE | 27 S (R&] 4,000,000,000 4,000,000,000 - 4,000,000,000
At A nsYUEF =FS7IE STERNSHTY ENREE KEMICH S8 21 g2 S CHM| 2 ALX] 2 AR (R&D) 4,224,000,000 4,224,000,000 - -
Atta| A wsEF =FS7IE TEUSAHFNE ns=sF0+ xrg$§g7|g7ﬂ 25 M ALY (R&D) 50,285,000,000 50,285,000,000 - 50,285,000,000
At A nsYEF =FS7IE STERNSHTY NESFAT S 85 SRS AT etSE AT ST LAY (R 21,301,000,000 21,301,000,000 - 21,301,000,000
Atta| A wsEF =FS7IE TEUSAHFNE ns=sF8+ EHEAIﬂTB SEHEdA D e E|MH|AME37| 271 5,570,000,000 5,570,000,000 - 5,570,000,000
s A nsYEF =FS7IE STERNSATY NESFAT =FA et da e = 2a| 7| &7 (R&D) 4,000,000,000 4,000,000,000 - 4,000,000,000
Atta| A wsEF =FS7IE STEUSAHFNE ns=sF0+ ol 30l 20| S A M ek o 7| =70 (R&D) 7,683,000,000 7,683,000,000 - 7,683,000,000
ABLS|H| nEg=E= S257|E} ZEDNEAING WESRAHT =2 GreenNCAPE 71 7| & 71 2H(R&D) 2,500,000,000 2,500,000,000 - 2,500,000,000
Atta| A wsEF =FS7IE STEUSAHFNE ns=sF0+ 7| X SKtH IR St ot 7| =70 (R&D) 3,500,000,000 3,500,000,000 - 3,500,000,000
Lt A e =FS7IE STERNSHTY NESFAT ASAHHEE2FHOI s MAAHA BT D HT 4,000,000,000 4,000,000,000 - 4,000,000,000
Atta| A wsEF =FS7IE TEUSAHFNE ns=sF0+ A SHALO|H 2 B CH-S 7| = 70 H AL’ (R&D) 2,000,000,000 2,000,000,000 - 2,000,000,000
s A nsYEF =FS7IE STERNSATY TENSSSAIEMNE AOLEAE[Z N EZE 27| 8HE 4 (R&D) 2,401,000,000 2,401,000,000 - 2,401,000,000
Atta| A wsEF =FS7IE TEUSAHFNE TEUSEEY|sMY AOEAE|QIZ 2fAloTS A 7| = 71 & (R&D) 3,000,000,000 3,000,000,000 - 3,000,000,000
US| A NESEE EESJ|E} ZTENENH] EEEEETEEER FERENEEEETIEEEE 6,906,000,000 7,174,600,000 658,467,000 3,855,448,920
US| A NEQEE SEEJ|E} TENENH| S Z N H B (A E 3} SO EHA|AH LA (HE D] 2,499,000,000 2,499,000,000 - 1,933,179,000
s A nsYEF =FS7IE SEUSYET} =YL L3 ﬁ%@EMAEﬂ“%"”' EEEEED 1,129,000,000 1,129,000,000 - 880,440,000
Atta| A wsEF =FS7IE TEUSYE} uSHEsHE 23 SR A I A2 A Y 23} 1,320,000,000 1,320,000,000 - 904,596,000
QHES| A| nEJEER E2S7[E} ZENENHS} RN EECTEEED) SOCOHM A B A| A BI(H K 5} 3,476,000,000 3,476,000,000 - 2,555,080,000
US| A NEQEE SEE7|E} TENENH| RENEEEEIEERD RN EENEEEEED) 3,195,000,000 3,195,000,000 - 3,195,000,000
US| A NESEE EEERS ZTENENH] RN REEEEED) EREES RN IEEED 2,277,000,000 2,342,166,000 397,400,000 1,597,986,000
US| A NEQEE SEE7|E} TENENH| EREETCEED REFENEEETICE T 10,342,000,000 10,342,000,000 - 8,120,614,020
s A nsYEF =FS7IE TENSY 3} AEMATAHEL(EED) HEMAFHBA AR AR AEFHED 2,880,000,000 2,880,000,000 - 2,134,295,000
eS| A ngyEF =557|E TEUSYE} A EHEYEHED SHRHH A AT HA|AR =2 A Ea} 450,000,000 1,312,850,000 - 1,045,993,840
SR NEQEE EEES! ZTENENH3] ZENEHFNFHI(HED] ZENERENEAAHIZ(HED 3,249,000,000 3,255,000,000 - 2,107,516,740
Atta| A wsEF =FS7IE TEUSYE} TEUSHHE LD (YLD STEVSHEESHAASHULSEFH LS 4,009,000,000 4,009,000,000 761,181,180 3,091,969,430
US| A NESEE EESJ|E} ZTENENH3] ZVIEEREHSHEED) S/ EEHENATLSURY(HED) 3,077,000,000 3,077,000,000 - 2,410,880,000
Atta| A wsEF =FS7IE TEUSYEt T E0| 8 E3HE3h S EO|EFENAASHE2EFHESh 5,763,000,000 5,763,000,000 - 4,518,240,000
Lt A nsYEF =FS7IE SEUSYET} N T EE) RS XA 2 o (7 H 3} 9,112,000,000 10,490,000,000 - 2,934,000,000
Atta| A wsEF =FS7IE TEUSYE} HaAAEH E o) EXSUEEAAHMSAEED 4,489,000,000 3,956,000,000 - 3,111,920,000
s A nsYEF =FS7IE SEUSYET} b R FEHSIEHEAAHLRA(HED) 5,510,000,000 5,640,000,000 - 4,075,629,320
Atta| A wsEF =FS7IE TEUSYE} H A E o) ESMTAHEAAERY(E L) 6,568,000,000 6,468,000,000 - 4,538,984,550
s A nsYEF =FS7IE TENSY 3} S ESUFENALSHX A (FH L3 /SN EE S SEEMNALFALIEFHLER 8,190,000,000 8,817,000,000 3,000,000 5,757,622,790
LS| A ngyEF =557|E TEUSYE} TESWHEENA LS X A (EHE 3 SESUEEI|BELHEED 860,000,000 860,000,000 - 860,000,000
s A nsYEF =FS7IE TENSY 3} TESUHEENALS X A(F LD} XStA| ST MSHER FED} 13,605,000,000 13,605,000,000 - 11,050,192,000
Atta| A wsEF =FS7IE TEUSYE} TESWHEENALS X A (EHE3h AKX St E E St A TR (E LS 4,135,000,000 5,911,440,000 - 946,141,060
Lt A e =FS7IE TENSY 3} TESUHEENALS X J(H LD} SEEIBICXHERJAHAI (FHE S 4,500,000,000 4,500,000,000 - -
Atta| A wsEF =FS7IE AHGHET| =X ] ER N EN T EN N EN e 2,677,000,000 2,677,000,000 - 1,528,000,000
LS| A e =FS7IE 4*“8*—'! e A7 AN E A A HALY AHI|AMEZEAIHALY 1,288,000,000 1,288,000,000 - 1,000,000,000
Atta| A wsEF =FS7IE AHGHET| =X ) 7| A SH M LR 7| A HH| A XA 2,910,000,000 3,420,107,860 221,024,210 582,192,070
s A nsYEF =FS7IE AR E R HE7| s XA HE7| s S=XMAY 1,000,000,000 1,459,281,810 - -
Atta| A wsEF =FS7IE AHGHET| =X ) AE AU ENEHMIMEH 2SS HE7| AL EXN A DAESF 135,000,000 135,000,000 - 67,500,000
Lt A nsYEF =FS7IE R E RN NS ] L REENEEE 29,852,000,000 34,039,736,000 12,631,850 19,844,478,870
Atta| A wsEF =FS7IE AHGHET| =X ) S QI QI A I A ERdES E—‘.)\PO*XI%(ODA) 30,714,000,000 36,535,954,810 - 24,074,306,390
Lt A nsYUEF =FS7IE a **@ﬁ%‘é?l%ﬂ% S Eotd e EY ZEQIH | E 61,075,000,000 61,075,000,000 - 61,073,801,140
Atta| A wsEF =FS7IE AHGHET| =X ) SAH 7| E8E Y SAHH[ A 7| xz+a| 2,058,000,000 2,058,000,000 347,260,000 1,771,960,000
s A nsYEF =FS7IE AR E R A=Y A SM7|&=XE 1,545,000,000 1,545,000,000 - 1,200,000,000
Atta| A wsEF =FS7IE AHGHET| =X ] ﬁféé*f“"'#ﬂl A CHA) HEASAMNEEAE 1,061,000,000 1,061,000,000 26,726,580 670,122,210
Lt A nsYEF =FS7IE AR E R HESAZ|E St ENEHE Y 7,661,000,000 7,661,000,000 1,079,000,000 6,994,000,000
Atta| A wsEF =FS7IE AHGHET| =X ) 4 7I%K1IE*J Elﬁ} A 7|§K1IE K 830,000,000 1,062,176,270 47,250,000 402,468,720
Lt A nsEF =FS7IE a **@ﬁ%‘é?l%ﬂ% REMERERE] AY7|eQngae|Z 5 Es) 1,113,000,000 1,113,000,000 - 630,000,000
Atta| A wsEF =FS7IE AHGHET| =X ] APA Hot e i°7|HMIMt+EI 1,201,000,000 1,201,000,000 - 849,211,000
Lt A nsYEF =FS7IE AR E R AgA FetEae| A E NS 836,000,000 1,014,186,000 75,584,590 722,441,590
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nsSAHEEH(H wsEF = a=dd et MY =AM 2,965,000,000 5,233,288,660 1,178,243,160 3,143,355,550
LNEALEHA nsYEF L2 Bk Adt== 7o Ap-Floh3z =AM 4,814,000,000 4,992,000,000 295,321,490 3,440,255,310
nsSAHEEH( wsEF = a=dd et AME-TEI =AY 13,528,000,000 36,329,782,750 2,301,719,180 27,176,188,400
nEALEHA nsEF L2 Bk Adt== 7o ots . stal2 =M 33,991,000,000 36,174,069,130 224,692,080 25,381,013,990
nsSAHEEHH wsEF = a=dd et 74 Lol-E5a = 5,400,000,000 9,371,721,000 70,089,660 7,453,469,340
nEALEHA nsYUEF L2 Bk Udt== 7o AR AEITHH 5,884,000,000 7,278,068,000 84,944,200 5,029,461,140
nsSAHEEH wsEF = a=dd et A ZH I =AM 12,234,000,000 14,132,000,000 75,094,190 5,179,564,290
LNEALEHA nsYEF L2 Bk Adt== 7o oda-sigm=dd 6,300,000,000 3,153,000,000 - 33,018,390
nsSAHEEH( wsEF = Ea | et 7Y O H-X| 2= 12,604,000,000 13,866,989,590 5,720,000 6,220,408,380
LNEALEH3A nsYEF L2 Bk Adt== 7o RX-5&5=2UM 6,977,000,000 8,431,142,820 166,674,940 3,282,802,280
nsSAHEEHH wsEF = a=dd et 74 AA-Hra M 14,028,000,000 19,067,000,000 655,188,490 13,548,116,440
nEALEHA nsYUEF L2 Bk Adt== 7o AT M=Z= A 4,997,000,000 447,000,000 - 8,981,690
nsSAHEEHH wsEF = a=dd et X E-AHT=AHE 7,384,000,000 8,949,751,700 80,538,080 6,038,947,090
LNEALEHA nsYEF L2 Bk Adt== 7o N e b~ 8,806,000,000 9,054,367,040 482,348,430 4,469,953,370
nsSAHEEH(H wsEF = a=dd et Y- oA HY 2,142,000,000 294,000,000 8,347,600 8,347,600
LNEALEH3A nsYEF L2 Bk Adt== 7o HMotgst-HEl AN A 3,000,000,000 1,769,401,800 - -
nsSAHEEH wsEF = a=dd et HHOAA-A7|AFEF=HH 1,996,000,000 4,346,000,000 271,437,410 2,256,437,410
nEALEHA nsEF L2 Bk Adt== 7o SHUS4mEHA 9,899,000,000 10,305,058,600 129,730,110 6,494,959,140
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nSAEELHI A nsYUEF EE SEAEEAS NEEFRENE CEAEE SR AR 65,920,000,000 65,920,000,000 - 47,458,000,000
nsSAHEEHH wsEF Az SAEEAY XStEAHEX[ A A=A EEAATMHAS 1,200,000,000 1,200,000,000 - -
nSAEELHI A nsYUEF EE SEAEEAS NEEFRENE SAZAEESIE- AN A 2,500,000,000 2,500,000,000 - -
nsSAHEH(H wsEF Az SAEEAY XStEAHEX[ A EMEAEEQEEMAY 1,744,000,000 1,744,000,000 - -
nSAHELEH3| A nsYEF EE SEAEEAS EERERENE SEMEHMENA 46,764,000,000 46,764,000,000 - 16,400,000,000
nsSAHEEHH wsEF Az §I74I7+7i 2f 2| A 7t 2y =7t UM EH | A (X LR JAADHHE 81,565,000,000 81,565,000,000 - 81,565,000,000
nSAEELHIH nsYEF as-3g otz H g ae dtz o ate HNESSAI 7 7,030,000,000 14,870,747,340 149,413,960 3,225,683,950
nsSAHEEH wsEF gts-58 ot d g3 Ee etz Uk 6,050,000,000 10,954,786,600 - 5,838,552,100
LNEALEHA nsYEF as-3g otz H a3 ae dtz ot UEt S Al E 22| 257,000,000 257,000,000 1,141,710 81,114,200
nsSAHEEHH wsEF gts-58 ot d g3 ae etz St SO EA| SO 2| 669,000,000 669,000,000 - 513,500,000
LNEALEH3A nsYEF a3 otz H g ae Adtz FotaH s FE= AL 9,500,000,000 15,922,858,600 - 3,060,795,170
nsSAHEEH(H wsEF gts-58 ot d g3 Ee MagHd 25 agaadd 85,474,000,000 114,492,062,330 2,499,367,230 25,070,503,360
LNEALEHA e as-3g etz st g e MIetdH SMEAY TN 7,100,000,000 7,100,000,000 - 2,000,000
nsSAHEEHH wsEF gts-58 ot d g3 Ee MagHd ME=H2s e - 17,286,000,000 17,480,125,800 2,886,000 263,146,800
LNEALEHA nsYEF as-3g otz H a3 ae MaEHA AfotaA st dd 13,500,000,000 13,920,000,000 - 13,000,000
nsSAHEEHH wsEF gts-58 ot d g3 ae MagHd JIHEMSSHEFEIEHRY 254,000,000 254,000,000 24,000,000 155,124,100
wESAHEESA nsYUEF a3 otz H a3 ae MEEHA JZtEEMNZE A 13,000,000,000 13,000,000,000 - 7,650,798,000
nsSAHEEH( wsEF gts-58 SRR S otMAIH SHHOINMAIH 2 A= 48,388,000,000 54,714,944,140 3,119,549,010 39,258,334,700
nSAEELHI A nsYEF as-3g el A SO SYASCHH 20,137,000,000 20,448,144,000 90,720 18,446,758,680
nsSAHEEH wsEF gts-58 SRR gtSoEEd StE 7| A O EAHEH| 7 X 973,000,000 992,300,000 56,932,520 525,949,660
LNEALEH3A e a3 el 3o st oduged 1,322,000,000 1,297,182,850 51,421,150 690,917,550
nsSAHEEH(H wsEF gts-58 SRR gtsoEEd Sta 7|t MoIS A =SS 660,000,000 710,000,000 51,351,270 348,048,440
LNEALEHA nsYEF as-3g el 3o A S EESIALY 995,000,000 995,000,000 - 397,043,610
nsSAHEEHH wsEF gts-58 SRR gtsoEEd ot MM A A 5 27 X 2| 6,443,000,000 7,195,335,000 710,000 1,967,038,480
LNEALEHA nsYEF as-3g el 3ot ANART| B SATLAEAARRR|E S 1,480,000,000 1,480,000,000 - 930,805,000
nsSAHEEH(H wsEF gts-58 SRR gtsoEEd =t SN E B A 1,328,000,000 1,328,000,000 - 903,700,000
LNEALEHA e as-3g el 3o ADEZ TS 200,000,000 200,000,000 - -
nsSAHEEH( wsEF gts-58 SZUTX R St AR R St AL M K| @ 1,330,000,000 1,526,740,000 123,640,180 966,740,080

SAHEEIA nsEF a3 el S EX CEMEHHAHETZURY 13,956,000,000 17,287,912,000 - 9,892,420,000
nsSAHEEHH wsEF gts-58 SRR St AR R CE20tH st o x| @l 22,643,000,000 22,847,000,000 3,620,816,300 15,733,247,420
nEALEHA nsYUEF a3 el S EX CE27|9X| {22 2,846,000,000 2,846,000,000 298,600,000 1,951,600,000
nsSAHEEH wsEF gts-58 SZUMX R St AR R CEQSHEHTH 1,685,000,000 3,846,800,000 - -
LNEALEHA e as-3g el S MEX CENEAMASSg] 17,039,000,000 21,877,921,120 676,000 13,393,034,330
nsSAHEEH( wsEF gts-58 SZUTX R St AR R 2=y 16,145,000,000 16,145,000,000 2,421,750,000 14,207,600,000
nSAEELHIH e =FS7IE STERNSHTY HEJ|2W+ A X2EADIE S| E 4727 AL (R&D) 3,752,000,000 3,752,000,000 - 3,752,000,000
nsSAHEEHH wsEF =FS7IE STEUSAHFNE HEZI|&d4 K|ISHEO| M| HX| X 27| =71 'S AL (R&D) 2,323,000,000 2,323,000,000 - 2,323,000,000
nSAEELHI A e = E S 7|Et STERNSHTY HEJ|2W+ A X2HE Z AR (RAD) 30,000,000,000 30,000,000,000 - 30,000,000,000
nsSAHEEHH wsEF = E = 7|Ef TEUSAHFNE HEZI|&d4 dHH8IYs lLH?EkOICH IO 2ol A D L E g 1,441,000,000 1,441,000,000 - 1,441,000,000
LNEALEHA e %%S 7| Et STERNSATY HEJ|2W+ Heolma o7 22| EQIeBIM7 | Bt R B E7h (| 4,500,000,000 4,500,000,000 - 4,500,000,000
nsSAHEEH(H wsEF =FS7IE TEUSAHFNE HEZI|&04 SAdutU I EME FHAAES 2T A A HIYE (RAD) 5,200,000,000 5,200,000,000 - 5,200,000,000

SAHEEIA e =FS7IE SEUSHFNE HEJ|2W+ MEXARSDZMTHS S ISR 317|271 L (R&D) 1,669,000,000 1,669,000,000 - 1,669,000,000
nsSAHEEH wsEF =FS7IE STEUSAHFNE HEZI|&d4 EY-EY QLS Z2 MMM T =71 L R&D) 1,921,000,000 3,405,000,000 - 3,405,000,000
nEALEHA e =FS7IE SEUSHFNE HEJ|2W+ SAEM A t“ArﬂuloH R EEEESEHUEYEGE 900,000,000 900,000,000 - 900,000,000
nsSAHEEHH wsEF =FS7IE TEUSAHFNE HEZI|&d4 HHf M M2 0| 22X YA F MO ZA| 7| =7 'L (R&D) 5,220,000,000 5,220,000,000 - 5,220,000,000
DEALEEHSA NESEE EESJ|E} ZTEDNEG I HCJ|2d A EMgﬂlowAE:.“q SHA T 717|271 & (R&D) 2,616,000,000 2,616,000,000 - 2,616,000,000
nSAHEEH3A ngyEF =557|E SENS oY Hoo|gdy MAZZE2HROME) d T H A Z EH S AT (R&D) 5,735,000,000 5,735,000,000 - -
wESAHEESA nsA=F =FS7IE SEUSHFNE HEJ|29+ 370kphO| & 0 &2 MM T| S U HILI | FIHE (R&AD) 5,500,000,000 5,500,000,000 - 5,500,000,000
nsSAHEEH( wsEF =FS7IE STEUSAHFNE HEZI|&d4 HEXAAEEYASIE7|E D=7 H(RAD) 4,000,000,000 4,000,000,000 - 4,000,000,000
DEALMEEHSA nNESEE SECJ|E} ZTEDNEG I VB E ZTEDNENSI|SRS TS EH I 22 H|(1 E)(R&D) 6,672,000,000 6,672,000,000 - 6,672,000,000
nsSAHEEH wsEF =FS7IE TEUSAHFNE HEZI|&04 HEXZECVMA|A BT 2712 (R&D) 1,300,000,000 1,300,000,000 - 1,300,000,000
nEALEHA e =FS7IE SEUSHFNE EEEEs N R R N e RN 2,600,000,000 2,600,000,000 - -
nsSAHEH(H wsEF =FS7IE TEUSAHFNE HEZI|&d4 CH A =X E 2 (GTXS) 2 M HEH S S8t = AR Y (R&D) 1,617,000,000 1,617,000,000 646,800,000 1,455,300,000
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nsSAHEEH( wsEF =FS7IE STEUSAHFNE HEZI|&d4 HETAXO QM 52 M. HIt0f| 27| & 71 & (R&D) 1,500,000,000 1,500,000,000 - 1,500,000,000
nEALEHA e =FS7IE STERNSHTY a7l XSS 7|05 U287 &7 E(R&AD) 3,504,000,000 3,504,000,000 - 3,504,000,000
nsSAHEEHH wsEF =FS7IE TEUSAHFNE gt37|&0T A O[3 7| 215 7] =71 EH(R&D) 2,879,000,000 2,879,000,000 - 2,879,000,000
nEALEH3A e =FS7IE STERNSHTY a7l HIH| 0| B 7| gt st-5 ohd 2t a|- 2 001 Z 7| & 7H 2 (R&D) 2,823,000,000 2,823,000,000 - 2,823,000,000
nsSAHEEH(H wsEF =FS7IE TEUSAHFNE e isin SSAMEEHAAZ 0| SH HUSWESHE 7| =7 (R&D 769,000,000 769,000,000 - 769,000,000
LNEALEHA e =FS7IE STERNSATY g7l BXHA =SSN0 (R&D) 7,107,000,000 7,107,000,000 - 7,107,000,000
nsSAHEEH( wsEF =FS7IE TEUSAHFNE e isin 3770 E Q157|127 (R&D) 4,460,000,000 4,460,000,000 - 4,460,000,000
LNEALEH3A e =FS7IE STERNSHTY a7l Oflo] 7| Htst 5 m E 22| 7| & 7] 2 (R&D) 3,556,000,000 3,556,000,000 - 3,556,000,000
nsSAHEEHH wsEF =FS7IE STEUSAHFNE e isin P detHEHA| AN 287|271 2 (R&D) 3,180,000,000 3,180,000,000 - 3,180,000,000
nEALEHA e =FS7IE STERNSHTY a7l KEM|CHCH QI & OhH M 24 M 7] = 7l 8HR&D) 5,200,000,000 5,200,000,000 - 5,200,000,000
nsSAHEEHH wsEF =FS7IE TEUSAHFNE gt37|&0T XsEgrol=Etd M7 =70 (RAD) 4,854,000,000 4,854,000,000 - 4,854,000,000
LNEALEHA e =FS7IE STERNSATY g7l MBS R H2|E 7Y ET 2] U AT 72712 (R&D) 8,080,000,000 8,080,000,000 - 8,080,000,000
nsSAHEEHH wsEF =FS7IE TEUSAHFNE e isin T Aleta 2 e E| A 22 S A A 7HEH(R&D) 7,602,000,000 7,602,000,000 - 7,602,000,000
LNEALEH3A e =FS7IE SEUSHFNE ek =8 GTFATIYH| 7| = X I S X A 74 Y (R&D) 1,500,000,000 1,500,000,000 - 1,500,000,000
nsSAHEEH( wsEF =FS7IE STEUSAHFNE 37| ot= 34 2| A 3t B A| A B (KPS) 70 2 (R&D) 38,386,000,000 38,386,000,000 - 38,386,000,000
nEALEHA e =FS7IE STERNSHTY a7l AR [EtstE 7| 2 2 A AU H| 7| £ 7 2H(R&D) 1,500,000,000 1,500,000,000 - 1,500,000,000
nsSAHEEHH wsEF =FS7IE TEUSAHFNE gt37|&0T 2SS I8 A URHX| 7| BHFRIA|ABIOIS K| A 7H 2 1,000,000,000 1,000,000,000 - 1,000,000,000
LNEALEHA e =FS7IE STERNSHTY a7l CHEMEK IEEE2 nERIA|A-GIEZAET|S) 2,000,000,000 2,000,000,000 - 440,000,000
nsSAHEEH wsEF =FS7IE TEUSAHFNE CER7|s0+4 27|22 (R&D) 5,238,000,000 5,238,000,000 - 5,238,000,000
LNEALEHA e =FS7IE STERNSATY Ve SRSt sl ZatH 27| S0 25 (RAD) 4,190,000,000 4,190,000,000 - 4,190,000,000
nsSAHEEH( wsEF =FS7IE STEUSAHFNE CER7|s0+4 AIL|O|E{ Z A oot S K25 otH a4t 7| = 71 & (R&D) 1,851,000,000 1,851,000,000 - 1,851,000,000
nEALEHA e =FS7IE STERNSHTY VR DEANIREC2-HAHIANZ 7| &1L (R&D) 2,472,000,000 2,472,000,000 - 2,472,000,000
nsSAHEEHH wsEF =FS7IE TEUSYE} 2rdE Y E=HEHE 8 e AR EED) 662,000,000 662,000,000 2,674,860 461,081,860
nSAEELHI A e =FS7IE Hsuss4H S0 SHA = LHEnSHAFLSXH 2,232,000,000 2,556,600,000 549,165,000 1,558,698,980
nsSAHEH(H wsEF =FS7IE Qsnssd HEnsSHALS ERA| A R| A 4,833,000,000 4,862,149,000 984,200,000 4,394,572,310
nSAEELHI A e =FS7IE Hsuss4H S0 SHA = HA MO AN 2 400,000,000 400,000,000 - 300,000,000
nsSAHEEHH wsEF =FS7IE Qsnssd HEnsSHALS LEUSIIEOYE| X E A 31,657,000,000 31,847,800,000 - 26,957,770,020
nSAEELHIH e =FS7IE Hsuss4H S0 SHA = YU SAE TS 2FAT 750,000,000 1,161,502,180 58,800,000 474,510,000
nsSAHEEH wsEF =FS7IE Qsnssd HEnsSHALS AN SHYMAL 820,000,000 1,238,057,890 117,600,000 580,153,490
nSAEELHI A e =FS7IE Hsuss4H S0 SHA = A AZ S YUK Y 58,092,000,000 58,135,034,080 - 54,600,000,000
nsSAHEEHH wsEF =FS7IE Qsnssd HEnsSHALS 2 A A QHN A H| AT M K| A 9,600,000,000 9,600,000,000 - 4,320,000,000
nSAEELHIH e =FS7IE Hsuss4H S0 SHA = FAQSNESHAFLEZKY 12,850,000,000 12,850,000,000 - 12,350,000,000
nsSAHEEH(H wsEF =FS7IE Qsnssd HEnsSHALS D2 Elg ol x| | 2,950,000,000 2,950,000,000 - 77,520,000
LNEALEHA e =FS7IE Qasnssd S0 SHA = MaaSStation 135 A| ALY 1,000,000,000 1,000,000,000 - 1,000,000,000
nsSAHEEHH wsEF =FS7IE Qsnssd LS Aol HOF T S FX0|- S HO| ST 224,560,000,000 224,662,400,000 - 196,437,900,000
Ol X| XM A EHI [ nEHEF =FS7IE =58H SEMEXY NEE Lk 1,437,000,000 1,437,000,000 - 1,002,190,000
Ol XXM A EHS[wEHEF =FS7IE =F8M SFMERH Metu S X AAHY 4,346,000,000 4,346,000,000 - 3,000,000,000
X UX AN P ELHS (D ETEE E2E7E} ZENENHS} HEYE3}(HEDh IS U XS A A (E 23 2,238,000,000 2,238,000,000 - 1,733,600,000
Ol A X| At RIA A E H ol = E XX 71 NEEEN A58 SMAZSE S8R J Jzle| 2 E@Estdat 9,084,000,000 9,084,000,000 651,661,320 4,821,077,440
SAMEANALELHI A |FEUX G NEEER WNEHES SAEA| SAMEAAEX 2 4,908,000,000 5,126,273,000 - 3,994,199,820
SIMEANALELHS A |FERX G WNEEEN NEHFI SAZ Al SMEAHFO] )M A et 2 x| @ 10,462,000,000 10,462,000,000 - 1,864,000,000
SAMEANALELHI A |FEUX G NEEERN WNEHES SAEA| SAMEZAEOE 7R ME Y 720,000,000 895,364,270 - 50,000,000
SAEAAGEES A [ZERXGHE NEETN 3[AZ|Z 2t (Oll=0lAtateh (3] 7| 2 2H0f =0 Kt Akt SSAFEE7IZE2A )00l KAt =t 16,532,000,000 16,532,000,000 - 8,028,021,770
7S EES A AR =X ZEd FEINYME A FEA SR B FHSZENAR Y NEEERNNENE 7,675,000,000 7,675,000,000 - 4,915,000,000
/o EUHEHI Y |[nSER = a=dd NETa=dd MNE=t=EddX @ 1,800,000,000 1,800,000,000 - 1,598,400,000
7o H UM EY A |[nSYER L2 Bk NETa=dd ME-SHPFI=HA 1,600,000,000 1,600,000,000 - 1,152,000,000
S/ EUHEHI Y |[nSEER = a=dd NETa=dd SMUEE Q- ME) M T EALY 3,800,000,000 3,800,000,000 - 2,736,000,000
77 HUMEY A |[nSYER L2 Bk NEAZ=4 8- cHs =27 16,829,000,000 16,829,000,000 - 12,616,880,000
/o EUHEH Y |[nSEF = a=dd NETa=dd NEYFEE2R2| EENHEOS-+fd0{1) 1,000,000,000 1,000,000,000 - 720,000,000
7o HUMEY A |[nSYER =E] 222 HNELT=FX 2 HNELT=FX 2 31,273,000,000 31,273,000,000 - 23,332,601,000
/o ELHEHI Y |[nSER =ED C222] NE= = EF X e NETaEs2)EES 8,000,000 8,000,000 - 8,000,000
77 HUNEY A |[nSUER =2 XXM =24 HX| @ e B | 1,473,000,000 1,473,000,000 - 1,473,000,000
/o EUHEH Y |[nSER = XXH =2 4 E X2 =2 S2oi-AohcTEY =2 MM 3,500,000,000 3,500,000,000 - 3,500,000,000
77 HUMEY A |[nSYER =2 XXM =24 HX| @ e EjE-Fejddz2dy 3,250,000,000 3,250,000,000 960,000,000 960,000,000
/o EUHEH Y |[nSEF = XXH =2 4 E X2 =2 ChAL-Qf BH O = 2 15,938,000,000 15,938,000,000 - 7,500,000,000
ZIIAAEHE S| [ nEYUER ] N EERENE EEEE] MO HIC-FA3ESEER 6,087,000,000 6,087,000,000 - 2,900,000,000
/o ELHEH Y |[nSEER = XXH =2 4 H X2 HAL2 ZOl-sHIYAT 2 20,041,000,000 20,041,000,000 - 15,000,000,000
ZIIANEHEHS| A [ nEYUER ] AAHEZALX Y ooz LS S-HAEMAZA 2 1,904,000,000 1,904,000,000 240,000,000 1,240,000,000
/o EUHEH Y |[nSER =ED XAH =2 H X 2 42 HE-H539ER 200,000,000 200,000,000 - -
7o HUMEY A |[nSYER =2 XXM =24 HX| @ SEER EAHDSSHE2X|Y 8,627,000,000 11,810,155,900 34,791,160 3,434,791,160
/o ELHEH A |[nSEER =2 XXA =2 4 E X2 SHER HdFEEEEREE 3,100,000,000 3,100,000,000 - 2,480,000,000
77 HUMEY A |[nSYER = XXM =24 HX| @ EREE EF-HUYSHER 66,000,000 66,000,000 - 66,000,000
/o EUHEH Y |[nSEF =2 XXA =2 4 E X2 SHER SRR F-HEAME S A E 2 3,156,000,000 3,156,000,000 - 3,156,000,000
o7t HUMEY A |[nSYER = XXM =24 HX| @ EREE ER e e 1,900,000,000 1,900,000,000 - 1,900,000,000
/o ELHEHI A |[nSEEF =2 XXH =2 4 H X2 SHER SN AMSIRE R E 2 24,136,000,000 24,136,000,000 - 14,360,000,000
o7t HUNEY A |[nSER = XXM =24 HX| @ EREE HEAS- HEYnSTE2 3,900,000,000 3,900,000,000 - 2,900,000,000
S/ EUHEHI Y |[nSEER = XXA =2 4 E X2 SHER ASju=re2 10,513,000,000 10,513,000,000 - -
7o HUNEY A |[nSYER e XXM =24 HX| @ SEER EETSESHER 4,000,000,000 4,000,000,000 - 3,000,000,000
/o EUHEH Y |[nSEF = XXH =2 4 E X2 SHER Sh-USEHERE 15,000,000,000 15,000,000,000 - -
o7t HUMEY A |[nSUER = XXM =24 HX| @ EREE HE- ME=TYEE 15,200,000,000 15,200,000,000 - 14,738,000,000
/o EUHEH Y |[nSER = XXH =2 4 E X2 SHER AR AN SR E 2 15,470,000,000 15,470,000,000 - -
o7t HUMEY A |[nSYER = XA 2 48X EREE S3-H3SHEE 5,921,000,000 5,921,000,000 - 4,400,000,000
/o ELHEH Y |[nSERF =2 XXA =2 4 E X2 SHER 2ol E-Heet 22U 2 500,000,000 500,000,000 - 250,000,000
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oIS SNES | SY=EF = I EERERE ST [S=dd THZGS A O o= 1,000,000,000 Ol A 8=
SoIFSURES NEISE = A =EaS = AR LAY e g SA- At ge 39.433,000, SExEa

THLNESS = S={ CA o x 433 1,00 EEL]

37%&6015;52%%'7“ L = nmﬂéiﬁ%*l% SIS =4 Ailf“?’qiﬁfg ERERE 38,000'888'000 e 2 S
B AN =2 £2 T SN S =S 22 2= NEUd 300000060 3500565 x 50
ey THEgE [aEaEE (=2 A2X| 2 SR EAYEAE ST 00,000,000 /491,000,000 53,693,260 500,000,000

ETTLISTEmP i E2 AAAE= a2 e PER e 1,905,000,000 200,000,000 - 16,751,623,900
AL M E Ha| DEJEE E xlexﬂEE,de'}J %7rx|:j [H =AM TRy | 538,000,000 7.905,000,000 - 3414911000'000
A7t %ﬁémﬁml ASX=TF == BRI %mﬁ?i' ek EH%.nuaax:Eag 3,226,000,000 535,000,000 200,000,000

= o= = =AM EINE > f : 3 - f ,
S 1e55% == XIXHAIE 2 SR e S RETTEL 5,262,000,000 3,226,000,000 - 1,905,000,000
%Jﬁ%i%ﬁ%%ﬁlﬁl ;LEE%% EE ;lxmliiﬁgxl 5 =7H axliiag E.an_§+¢%x|574g*e* 1,000,000,000 6,557,000,000 - 538,000,000

> o= = = = 7l - .
SH T PHE] ZexeT == A R A IR 2.950,000,000 1.000,000,000 - 3,226,000,000
%7{§g SFM E 53| 7] == A=F Ei X:Kfﬂligagxlgj ESToY axliéﬁ"é QEJ"‘T‘%XIE;A? 18,733,000’000 2.950,000,000 - 6.557.000,000

TS NEHS wsER AR EE AL = ERNEERE IS a3 853,00 14,933 1000 -
=105 T AINE ESISIE = e ,000,000 ' ,000,00 — : ,000,0
e ETTTEMErLtL E2 ST S T e R e 8,505,000,000 15154000000 55000000
71_116'1H+7<-|; IEQEE = K| KA = = AR AN = M 256 - 6.1 . Z 149 .
TS g E g X=TT EBEERERE E=SToE 0= f=-et= ,566,000,000 ,103,000,00 - 1933,000,00
=7te %*Flétanuml usAU=F =2 lemliiﬂi = j}yr [HASEHE EOE_M;_}K'EEE 19,911,000,0! 1,539,000, - 19,194,000 0
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7o H UM EY A |[nSYER =FS7IE AsA S n &M s Xtotd =2t SEANETH R YL E| Y ESIX| Y 2,401,000,000 2,401,000,000 - 2,401,000,000
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7t AU E s A |FEXX UL AT AHAEEX 7 X AFATER| X R (K] 2) EE N EENE 56,669,000,000 56,669,000,000 - 46,236,470,000
7t H UM E YA | FERX G AT RN EE R A ERX X 2 (K] ) NN 497,000,000 497,000,000 9,593,000 188,766,000
7t AU E e A |FEXX L A TR N ENEEFERE AFATER| X R (K] 2) S oA e e S AR 26,060,000,000 26,060,000,000 112,140,000 23,202,140,000
o7t H UM EYHS A |[FERX G NEEW RN EE R A XX 2 (X ) RN eS| 13,600,000,000 13,600,000,000 - 8,160,000,000
7t AU E s A |FEXX UL AT AHAEEX 7 X AFATER| X R (K] 2) SN ETR Y 500,000,000 500,000,000 - -
7o H UM EYS A | FERX G NEEW NN EE AAC X R A =2 X8 SO get A EX| Fd = 2 X2 454,000,000 454,000,000 - -
7o WU EHD A | FERX G AT RN E N AFACEX| R = 2 X[ 2] TO|FIHAERIE 2 22,500,000,000 22,718,000,000 230,853,490 14,213,950,040
o7t H UM EYHS A | FERX G NEEW RN EE N AAC X R A =2 X8 HSTAUEEIYER - 2,907,041,100 9,419,500 1,807,951,880
7o WU EHD A | FERX G AT RN e AATHX| X = 2 X[ 2 UBHALO|HAALEIRI = 2 1,051,000,000 1,526,996,250 300,000,000 316,294,040
o7t H UM EYHS A | FELX G NEEW RN EE R AAC X R A =2 X8 NSHAHER|METAER(MB) 3,685,000,000 4,933,968,600 62,409,100 1,969,772,010
7o EUHEHD A | FERX G AT RN e AMATHX| X = 2 X[ 2 NBAOLE DZIMEEQJ = 2(MF) 4,141,000,000 3,373,728,300 488,821,670 493,579,170
7o H UM EYHS A | FERX G AT RN EE R AAT X R A =2 X SAZARMEIRIQER 300,000,000 300,000,000 - 75,000,000
7o AU EH A | FERX G AT RN e AATHX| X = 2 X[ 2 NEESMETYEE 2,500,000,000 4,268,164,800 - 20,852,500
o7t H UM EYHS A |[FERX G NEEW RN EE R AACHR| R = 2 X] 2 QEHICAMEEREZ 1,000,000,000 6,350,177,110 80,476,000 1,346,225,150
7o WU EHD A | FERX G AT RN e AMATHX| XA = 2 X[ 2 YA HTMERIQE R 2,837,000,000 3,537,000,000 - 1,035,068,640
7t H UM EYHS A |[FERX G NEEW RN EE N AATX| T2 XY I EHEMCRI e 2 5,100,000,000 6,979,736,650 55,681,380 2,729,936,080
7o AU EH A | FERX G AT RN e APACHR| R £ 2 K] 2] HFEHEEL|ALMEIRIAER - 5,455,072,890 18,792,950 2,510,310,230
o7t H UM EYHS A |[FERX G NEEW RN EE R AACX R A =2 X8 ORAMENYAMEIEI =2 - 11,257,784,300 525,130,020 1,508,993,470
7o EUHEH A | FERX G AT RN e AATHX| X = 2 X[ 2 MO AZMETQJYES 347,000,000 2,171,258,700 123,881,820 1,427,738,540
o7t H UM EYHS A | FERX G NEEW RN EE R AAT X R A =2 X HFHFEAETIYER 1,700,000,000 1,700,000,000 - -
7o WU EHD A | FERX G AT RN e MYEX| A =2 XA ST S ECHAEHRIQ = 2 8,801,000,000 8,801,000,000 - 5,967,000,000
7t H UM EY A | FERX G NEEW RN EE R AACHX| R = 2 X] € UL F MBI e 2 4,000,000,000 6,274,403,950 84,527,300 2,024,623,630
7o E UM EHD A | FERX G AT RN e APACHR| R 2 2 K] 2] AHE ST 7RI E 2 4,675,000,000 4,081,980,630 35,561,840 2,414,773,900
o7t H UM EYHS A | FELX G NEEW RN EE R AACX R A =2 X8 O S ESEMEHTJAER - 4,445,370,960 607,108,710 1,409,516,610
7o EUHEH A | FERX G AT RN e AATHX| X = 2 X[ 2 HMFTELAMEZIQE 2 5,885,000,000 5,886,620,970 29,240,670 4,006,051,150
7t H UM E YA | FERX G AT RN EE R AAT X R A =2 X HEM3ACHEAEZ 1,840,000,000 1,840,000,000 - 1,279,401,720
7o E UM EHD A | FERX G AT RN E N AATHX| X = 2 X[ 2 TSR E 2 4,861,000,000 5,784,000,000 36,115,340 3,386,263,130
o7t H UM EYHS A | SERX G NEEW RN EE R AACHX| R = 2 X] € EEEERERNREEE 9,350,000,000 13,166,003,270 660,000,000 3,700,386,530
7o WU EHD A | FERX G AT RN e AMATHX| XA = 2 X[ 2 SEHFIMIERAER 5,434,000,000 5,931,276,070 34,117,460 3,816,540,090
7o H UM EYS A | FERX G NEEW RN EE R AAC X R A =2 X8 HESHZAHZE|AMETJAER 16,932,000,000 16,944,235,290 - 9,156,250,340
7o AU EH A | FERX G AT RN e AMATHX| X = 2 X[ 2 ZTHO|RIZMERAEE - 3,622,673,290 48,994,240 2,824,304,920
o7t H UM EYHS A |[FERX G NEEW RN EE R AACX R A =2 X8 LM EHUR|METIYER - 1,633,788,930 67,794,460 816,673,180
7o EUHEH A | FERX G AHREEX| RN e MYEX| A 2 XY HENE B QIAJE[AMEIRIQE 2 5,506,000,000 7,627,699,380 - -
o7t H UM EYHS A | SERX G NEEW RN EE R AAT X R A =2 X8 HETHEAMHTJAER 300,000,000 300,000,000 - 298,500,000
7o WU EHD A | FERX G AT RN e AMATHX| X = 2 X[ 2 SEUSOAZMETAEE 2,281,000,000 3,721,749,540 92,032,460 1,078,563,670
7o H UM EYHS A |[FERX G NEEW RN EE R AATX R A =2 X EFETAETIYRER - 5,186,559,340 80,022,730 1,568,134,330
7o AU EH A | FERX G AT RN e AFACEX| R = 2 K| 2] HYSHMETQAE2 1,143,000,000 3,210,718,390 1,740,640 572,113,200
7o H UM EYH A | FERX G AT RN EE R AAT X R A =2 X8 HORI A EA|HEMEIEI e 2 4,107,000,000 8,492,943,040 4,593,700 3,019,617,800
7o EUHEH A | FERX G AT RN e AFACEX| R = 2 X[ 2] S YEHELAMEHTAEE 10,487,000,000 11,731,912,910 - 4,917,493,300
7t H UM E YA | FERX G AT RN EE R AAT X R A =2 X ANHESAHf A 8,665,000,000 7,122,754,870 48,170 3,175,037,070
7o WU EHD A | FERX G AT RN e AFACEX| R = 2 X[ 2] AFATHMCHRIQIE 2 - 386,625,100 - 4,720,000
o7t H UM EYHS A | SERX G NEEW RN EE R AACX R A =2 X AFEABMERIA =2 - 1,506,645,810 502,128,020 1,466,645,810
7o AU EHD A | FERX G AT RN e AMATHX| XA = 2 X[ 2 HOIE HBITAERIQI = 2 3,000,000,000 3,005,920,000 - 5,920,000
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T/t n AU EHD A | FERX G AT RN e AFACEX| R = 2 X[ 2] ST EHAMETIRER 1,000,000,000 1,000,000,000 - 33,059,400
o7t H UM EYS A | FERX G NEEW RN EE N AACX R A =2 X ORMEIYH A MEIEIRE R 5,001,000,000 5,001,000,000 - 5,001,000,000
7o WU EHD A | FERX G AT RN e AATHX| X = 2 X[ 2 ORAEX|MELRI Q=2 1,708,000,000 1,708,000,000 - 1,706,500,000
o7t H UM EYHS A | FERX G NEEW RN EE N AAC X R A =2 X8 HTSOMEHTJER 300,000,000 1,576,000,000 - 10,168,400
7o WU EHD A | FERX G AT RN e AATHX| X = 2 X[ 2 SHHIA AT 2 103,000,000 375,000,000 - 77,447,760
o7t H UM EYHS A | FELX G NEEW RN EE R AACX R A =2 X8 O AR A EHRI = 2 1,878,000,000 2,577,824,470 55,649,990 897,809,760
7o EUHEH A | FERX G AT RN e MYEX| A =2 X| Y SMO[ZEFIHMEHFEN-O|ES)EUAEE 9,060,000,000 5,655,815,000 - -
7t H UM E YA | FERX G AT RN EE R AACHR| R = 2 X] 2 LR AMEEI 2 2,995,000,000 3,880,800,000 69,240,730 3,161,580,730
7o WU EHD A | FERX G AT RN E N APACHR| R 2 2 K] 2] SOttt S EQIMETIQRER 5,000,000,000 5,002,000,000 - 66,000,000
7t H UM EYHS A | FERX G NEEW RN EE N AAC X R A =2 X8 MeHHIA - M| MEHTIYER 3,033,000,000 3,035,000,000 - -
7o WU EHD A | FERX G AT RN e AMATHX| XA = 2 X[ 2 ORAFOIFMEIEEF) R ER 4,319,000,000 8,323,993,200 - 3,719,000,000
7t H UM EYHS A |[FERX G NEEW RN EE R AACHR| R = 2 X] € SIHBIXAMEHEIQI = 2 - 366,000,000 - -
T7tnE UM EHD A | FERX G AT RN e AATHX| X = 2 X[ 2 SaEAAMERAER 6,265,000,000 6,265,000,000 - 1,710,000,000
o7t H UM EYHS A |[FERX G NEEW RN EE R AACX R A =2 X8 O|FFEMUHTAEE 4,000,000,000 5,183,601,000 - 1,114,591,720
7o EUHEH A | FERX G AT RN e AFACEX| R = 2 X[ 2] TR ER 2,740,000,000 4,750,000,000 182,200,000 1,425,964,000
7o H UM EYS A |[FERX G NEEW RN EE N AAC X R A =2 X8 HOH A =D MEHTJAER 5,551,000,000 956,848,600 - 95,848,600
7o EUHEHD A | FERX G AT RN e MYEX| A =2 XA EE N EERNEREEE 100,000,000 831,000,000 - -
o7t H UM EYHS A | FERX G NEEW RN EE R AAC X R A =2 X8 SFEELIMEEIYER 1,100,000,000 550,000,000 - -
7o E UM EHD A | FERX G AT NN e MYEX| A E2X| A OO EAMERIAE 2 4,070,000,000 5,154,255,600 - 3,317,772,900
o7t H UM EYHS A |[FERX G NEEW RN EE R AACHX| R = 2 X] 2 HEBX|AMEEIYER 1,000,000,000 1,316,000,000 - 1,000,000,000
7o EUHEH A | FERX G AT RN e APACHR| R 2 2 K] 2] YF2 I UMERIQER 12,658,000,000 13,057,372,600 153,582,040 11,563,767,230
o7t HUNEYHS A | FERX G NEEW RN EE N AACX R A =2 X HEUES SO ELMHTJAER 1,000,000,000 1,198,000,000 - 810,000,000
7o WU EHD A | FERX G AT RN E N AATHX| X = 2 X[ 2 TMEHI L ZEL|ALMERAER 1,204,000,000 1,524,525,200 - 533,090,000
o7t H UM EYHS A | SERX G NEEW RN EE R AACX R A =2 X SOtEEAMEHTJAER 3,000,000,000 3,141,390,940 84,601,000 674,007,860
7o AU EH A | FERX G AT RN e APACHR| R £ 2 K] 2] HOLS M2AE R E 2 4,636,000,000 4,707,157,000 - 4,071,157,000
7o H UM EYS A | FERX G NEEW RN EE R AAC X R A =2 X8 HOtH6ATHEI =2 495,000,000 495,000,000 - 323,300,000
7o WU EHD A | FERX G AT NN E MYEX| A =2 XA ORAMSEATCHEIQIE 2 510,000,000 110,000,000 - -
o7t H UM EYHS A |[FERX G AT RN EE R AAT X R A =2 X O AHOJ e AR Rl E 2 583,000,000 583,000,000 - 227,987,200
7o EUHEH A | FERX G AT RN e MYEX| A 2 XY AHO I HLRME R = 2 5,400,000,000 5,400,000,000 - 4,090,000,000
o7t H UM EYHS A | FELX G NEEW RN EE R AACX R A =2 X8 ZESR5AERYER 1,111,000,000 1,111,000,000 - 559,960,000
7o WU EHD A | FERX G AT RN e AMATHX| X = 2 X[ 2 BFAMARHALEXTRA LR 1,248,000,000 1,248,000,000 588,058,000 591,241,600
7o WU EHD| A | ERX G AT AT T X MATHX| T = 2 X[ SOZIMEEASEHHTAE R 4,310,000,000 4,210,000,000 - 1,101,051,840
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